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\documentclass [adpaper,tocentry,microtypel] {oblivoir}
\usepackage [db14x6]{fapapersize}

\usepackage [dvipdfmx] {graphicx}
\usepackage{hyperref}

\usepackage{wrapfig}

\usepackage{caption}
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Questions and Answers with Prof. Donald E. Knuth, TUGboat 17
(1996), 722

Silvio Levy: How come you don't use WTEX? [laughter]

Don: How come | don't use IXTEX? [laughter] I'm scared
of large systems! [louder laughter] Bart?
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\catcode ‘\*=13 \let*=\medskip



\obeylines
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{\obeylines Roses are red,

Roses are red, Violets are blue;
\quad Violets are blue; Rhymes can be typeset
Rhymes can be typeset With boxes and glue.
\quad With boxes and glue.

\smallskip}

\def\obeylines{\catcode‘\""M=13 \let”"M=\par}
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Macros for Jill

github.com/sjnam /TeX


http://ftp.ktug.org/tex-archive/systems/knuth/dist/tex/
https://tug.org/TUGboat/tb17-1/tb50knut.pdf
https://www.tug.org/TUGboat/tb08-3/tb19knut.pdf
https://github.com/sjnam/TeX
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